_
A

Ayak basma borulari platinaya 4 Adet M10x20 civata ile sikilir

Footrest must fix to the platina with 4 M10x20 bolts.

Priz kutusu, platinaya lamalardan 4 Adet M6x15 civata ile sikilir ==

!

Socket box must fix to platina with 4 pieces of M6x15 bolts.

ZEMIN/FLOOR

Unit must fix on the metal plate with 1 M10x40 bolt.

Tezgah govdesi, ayak platinasina 1 Adet M10x40 civata ile sikilir.

Priz kapaklari sag ve sol olarak 8 Adet 2,9x10 sac vidasi ile sikilir.

Socket covers must fix to the right and left with 8 pieces of 2,9x10 sheet screws.

45°'lik apsap parga
45°wodd part

[+ [ +]
45°'lik a.'lgap parga
45°wodd part

45°'lik ahsap parga I I 45°'lik ahsap parga
45° wood part 45° wood part

45°'lik ahsap parca I I 45°'lik ahsap parga
45° wood part 45° wood part

# ﬁ h | ﬁ ZEMIN/FLOOR © _ﬂ.,

Ayna 45°aski aparatindan asilir.

The mirror is suspended from the 45 ° bracket.

e e | ROUND MASSIVE ISLAND BAYAN TEZGAHI_ MONTAJ SEMASI / ASSEMBLY DIAGRAM TARIH: OLGOLER s om ssmimersan
— = IZIm ustunden olgu alinmamalidir.
CIZEN: 25.01.2021 Measurements are in cm.

Designer:

Sibel MERIC




